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8. A bie contains 4 black balls and 6 red balls, if one ball is
"~ orobability of getting a red ball is

ﬁm4mamm&mummasmaa
Sogrgd JoD?
(1)

AR

@

1
4 —
3) 4 36

’iﬂ 51 and E, are mutually exclusive, then E, N E2 =
E,, E,mﬁm;ﬁaqoamm E, NnE;*=

m 1 5

@ ¢ (4) None of these
olaf et

O- If three coins are tossed, then the total number of outcomes are

3 ot NOEI0LIT Sty SEITe SoP; |
1 2 A
£ 48 W 8

/. The formula for median in a grouped data is (with usual notation)

drawn at ranﬂm

f

Sheds Sxgrord sngo (Perte 3ctorod) n
N —~-F
et I )
(1) L+L3‘f— x C A L--a?-—
N N
= F =+ F
3) 2—xL 4 L+2_—xC
J J)
@ Modeof 1,2, 3, 8, 10, 11, 16 is
1,2,3,8,10, 11, 16 v oo
m 1 1
3) 16 (4] None of these
i\ LTI
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C&j The arithmetic meanof a-3d, a~d,a+ dand a+ 3dis
a-3d, a-d, a+ dSddio a+ 3d o Nk BosG0 =

1) a 2y d
(3) 2a @ 2d

@i Which of the following is not a measure of central tendency?
51 808 08 B0 50 Fos Bty Jexd) TD

(1) Mean "~ Median
e ' o150
(3) Range (4) Mode
T erayedso

product of two numbers is 30. If their HCF is 5, then LCM is

Both Hope oR0 30. o0 K. 5 wons KA.
(1) s 21 6

(3) 4 4 8

The smallest odd composite number is

wh O B Soding oy
1y 3

7 @ 9

2 is

2 el es
a rational number Jﬂk’ an irrational number
el Sowg el Sops
a prime number (4) a composite number
BSOS Sowy | RSodiug Pows

'11::.3,‘,;-:2 = 2, then x =
' 103312 =, GoMH X =
1y 2 oy -2
@ 3 4 -3
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@t of even prime numbers is

O @BGrS Sogge LG
(1) 3,9 (2) {4,6,8}
A3 8, 10) (4) (2

@ IfAn B= B, then the correct statement is
AN B = B oo & $ed o706 50@nd

(1) AcHB (2) BcA
(3} A=o (4} B=¢
~
18 Which of the following sets are finite?

S £08 D& 08 So0u6 150509

(1) Set of all natural numbers (2) Set of all prime numbers
A Sopgas e Yo SO ) B6 Sogse 3000

(3} Set of months in a year (4) None of these
&8 S tod’ Boo 50 D4 s

- The number of zeroes, a biquadratic polynomial can have at most is
SH0R 03 STUSHE doss: e Sopg

(1 1 2 2
3 3. 4 4

fie product of the zeroes of x + 2x? + ] is

+2x% + 1 oo renge oo
1 -1 (2) 2
3 1 (4) %‘
@ The zeroes of the polynomial x3 - x2 are
- 5030 oo s
1) 0,01 2) 01,1
& 1,11 4) 0,0,0
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( 40, AABC - APQR, if ZA = 50°, then 2Q + ZR =
AABC - APOR 55005 ZA = 50° ©oax$ £Q + LR =

(1) 130° A2y a0°

(3) 80° - (4) 140°

/ ;i: The point which is equidistant from the vertices of a triangle is called

Ogbe: $oro Sood 55778 ErGod’ Ko Dot
(1) incentre (2) orthocentre
B0t 53 oo ocw Soie
/_I,Si' ~ centroid (4) circumcentre
Rodiatts Sogio 365 oo

@ The number of tangents that can be drawn to a circle from a point lying on the circle
28 Sfo Mo Boto Sood & ol Adbito oo Sops

(1) 1 2 o0
3y 2 (4) infinite
a5odo

surface area of a cuboid of length 7', breadth ‘b’ and height ‘A’ in square unit
DED T, o b, 83 W e e B¢ Yoo alt) Sorite 3ros0

(1) bk (2) 2h(l+b)
3 2+ bh +1k) (4) 2(+b)
@thummm,irr-?mmh- 10 cm in & cone, then its lateral height (approximatel
mwr-?,h-lnﬁ‘mﬁummma@!- ...... o.b,
(1) 134 cm 2) 103 cm

1/@/ 182 cm (4) 122 em

-'Ir the diameter of a sphere is d, then its volume is
L SRS Gy Iyo d wows D jusbieo
l e L
@ g

(2) '-g-'::d"

(4) %mf‘
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SECTION—II : PHYSICS

—

( #Edl_:TT Dioptre is the unit of

Sl A28 psreo —
(1) Refractive index M ocal length
SEESS Moo Ty oBsRn
(3) Radius of curvature (4)  power of the lens
5o :"Eﬂ‘g;'n: g f.‘!‘:bﬁc
. PR 1Q1 i.
52. For the children below the age of 10 years, the value of least distance of distinct vision
about
10 Zoiie Soi 85y Satis o BP0 oL St SN BIS0 Do HosreT
(1) 7-8em (2) 25cm (3] 60 cm (4) 227 ecm
F = |
83 Pick the false statement on the magnetic field lines.
SALMOS IO welpes Sowodod By AT 00 + :
(1) They are imaginary lines (2) They are two dimensional
G2 &SRS pen D BB
L/{wére closed loops (4) They never intersect with each other
o0 SohE Seves ol LEOOTES PodoiESD

},4‘111: SI units of magnetic flux and magnetic flux density respectively are
| m@umwammmimma—mmmm

(1)  coulomb and weber (2) coulomb and tesla
Srerod, 306 Srarod, 8
(3) ber and tesla (4] weber and ampere
yhe development of electromagnetism lead to the invention of
DEFELBB0 o), SR o Koeded
(1) electric bulb (2) electric geyser
(3) battery (4) dynamo
ergesd '——'—_ﬂa-ys:;-

L.

56, The magnetic flux passing through a unit area perpendicular to the field is called
(1) magnetic flux density (2) magnetic moment
4) glectmmot‘m force
DeiogSmek esss
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ET‘ When freely suspended, the compass needle come to rest along the geographic
F
RET GODRDES, BETND dlul 570 40D Gl Eod B Jond Do O Sy

(1) north-east directions (2) east-west directions

&E0- 5700 O¥en S-S0 B
(3) south-east directions /Mﬁh-snuth directions
EEr- Bt B¥en

&g~ L4 OF

58. If x and y are the temperatures of the hot and cold water samples respectively and z is the

final temperature of their mixture, then
xﬂﬁoﬁﬂymmmmambqummm 2 ) Do BoB ESFIS oD
(1) y>x>z 20 x>y>z —’[’3’]/}32>y 4) y=>z>x

59,-1f i and r are the angle of incidence and angle of refraction, then the equation for the Snell’s
-~ law 18

i 5080 1 6 SESE 0 Koot SELS Seroes SET 0B b DABE0 Glos, BIERS

(1) Sin i+ Sin r= Constant (2) Sin i- Sin r = Constant
Sin i + Sin r = HooSiL Sin i - Sin r = RTOSIV

(3) Sin ix Sin r= Constant /m/j :_ = Constant

g 2 sin 1
Sin i % Sin r = Rorosiw Sin.r
g} A lens is made up of
T el SaUrth Sabue I SeriE

(1) a transparent material (2) an opaque material

2L ST OIS ST

(3) both transparent and opaque materials (4) None of these
D50 SoBOT0 e LGS Sorgen BoGTRT A

6 distance between the focal point and the optic centre gives the
,/Tb@mmagwmmmammﬂ,
(1) radius of curvature /l2|, _focal length
sger TENEEe oo
(3) object distance (4) image height
S GOS0 D8owo S8y
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}- The human eye functions on the principle of sensation of

STSHA Bioy 3D kot eerEi B8HO6S

(1)~ vision (?) heanng
(3) taste (4) smell
&od Troe
. An amount of charge passing through any cross-section of the conductor in 1 second is
- called
&5 TS0 dlot, DA Maghso Mot e MEE’ Eilrods ey SOSITo
(1) electric potential (2) electric current
g FEDAHS DSxd S0
(3) electric resistance (4) electromotive force
At DE°EH DopSTes ot
64. Which of the following materials obeys the Ohm's law?
TS L5 Dairdy Sedod Sorgii
(1)  Light emitting diode (2) Silicon
8e5 D0edof & (LED) o)
(3) Aluminium (4) Germanium
SO B3, Do

Pick the false statement on the metallic conductors.

G359 TTTOD 3000500 dod TS By TS
(1) They obey the Ohm’s law.

(2) The ratio of voltage and current is constant.
T SEe mbato Aigive U0 horosn.
(3)) The voltage-current graph is non-linear.
>3 TG - Do (v S iy,
(4)  Their resistance changes with temperature.
'I'hc device used to measure the potential difference or electromotive force is
Foand 3o 8o Doyl wettks FeseM otk esssr

| ﬁl _ eter (2) Voltmeter
) Sghess
(4) Barometer
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e the curry inside it hag
) 1. A samosa appears to be cool outside but it is hot when we eat becaus

ingredients of
DD Disysys D BT ol S0 Sorges S S0k, e

- : 1 t
(1) lower specific heat /[2,)# higher specific hea
o) DBID) KON oeaod w05 DBy SN Gotaod

(3) =zero specific heat (4) None of these

ok DRLRR 59N Gotad ke

72, Which of the following is not an example of refraction?
208 T3 3dasond eourte o0 :

(1)  Bottom of the swimming pool with water appears to be raised
D DA &) My ofiird escharigriio 28 Ssedieo

(2)  Pencil placed in a tumbler of water appears to have a bent
RS SDN dssy MBE" DNED DISHES BB SRS ESEE0

(3)  Lemon kept in a glass of water appears to be bigger than its size
eI SDA & e Ko Dy sa 38KIEe E8T Slosto

J/ﬁppearanm: of our image in a plane mirror

Sode Eheod” Ho% E00omo Seeo

73./The speed of light in benzene is 2x10% m/s. Its refractive i i i |
i i / ve index is (speed of light in vacuum

Bos36" 50D S 2%10° m/s. wod oD 584 Keto (¥r506" 208 Io = 3x10° m/s)
(1) 066 @ 1 y | @ 2

(73. Ahghtmy travels from air to glass with an angle of incidence of 45°. The possible angle of

:'."g'

- ,ul...

08 85630 D fiod mrer SIS 45° S'rod’ St wausd, 800 8" Docly 5fsmss €0
as° @ 65° |
50 (4) 30°

1
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(1)

(2)

(3)

(4)

refraction, which of the following lie in the same plane?

DAHEess
BRI00D), Eob) 6 o dwodt Eocisd

::;dﬂnt and refracted rays
o =00 54 erens S
ncident ray, refracted ray and normal

e85
s MMmemmmﬁm
cident ray and normal only .-

SO 8560 BoBahy airEsves 33t seod A sono
Refracted ray and normal only )

WMMuﬁmﬁm&ﬁ»m&mm

76. A focal p]_n,ng is

THAD B0 68558

(1) parallel to the principal axis (2) perpendicular to the principal axis
ROl Sirotto Sooed oocwe

(3) at45° to the principal axis (4) at 60° to the principal axis
SRS 45° Fro 3500 Sorend 60° S'ro 39308

e

77. Which of the following lens is used as magnifying lens?
BoB TredE" esssis Shako (£078g0) M 303y Swso

(1)
3)

=)

Double convex (2) Double concave
BsS0eTsS T Boprsd
Plano-convex (4) Plano-concave
Ste Soersd Sode S0

78. A convex lens gives an image of the same size of the object when the object is placed

wquqmm,mwmmwmammmw

(1)

(2)

y

(4)

between the focal point and the centre of curvature
FHah Dot B o~ SoEe S5

between the focal point and the optic centre

bt Dociod B0 G Soo 5

—t@nd the centre of curvature

Sgor Soo &850

at the centre of curvature

ser e SPACE FOR ROUGH WORK /DS3808 2555



79. Pick the correct answer from the following two statements :

B0 Bodh iine Mol SO Mo Jobs Bius'ed :
fa) A lens has at least one curved surface,
L Baoo U0 1Y S@Eserdy SOA dotnod

(b) A plano-concave lens has two curved surfaces.
BS Ao Durs Sesd Both SEdoe) dotrow

llj ~Only fa) is true (2) Only (b)is true
- fa) Srsd Deo (b) S Deso
(3)  Both fa)and {b) are true (4) Both (a) and (b) are false
@) So5cs (b) Sotir Herd (a) 550k (b) Dol $5,8

80. The material suitable for making heating element of electric iron is
X D28 o 30860 asarme: Songo

(1)  copper Mchrume

b 3E'S
(3) silver (4) germanium
Dok B30c50
@:ﬁ Match the following :
$ob el ettty :
Physical quantity SI Unit
o5 o% 81 SSree
fi)  Electric current (@) Coulomb
s o Srerod
(i)  Electric charge fb) Volt
Syl it 5
(ii}) Electric potential {¢) Ampere
_ m“@l (i)~ (@), (i)~ (b) 2 f)- (o), fii)- (b}, i)~ (a)
1)~ (@), (i)~ (c), (i)~ (b) Bt~ b), i)~ (a), fi) (¢
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10M o0d 1016 .

(1) insulatoers
BoGse)

(3) * semiconductors
T

83, The graph between

conductors
[ ™ o o &

None of these

70 9

gives a straight lin\||_-~lm:,twlﬁ'al ference (on X-axis) and current {on Y-axis) for a conductor

“?WMWM‘x‘%]mmﬂsﬁmw-@g}emmmmm

XU NI

(1)  parallel to X-axis
X-e508 Sirosto

@) passing through origin

84. 1 joule / 1 coulomb =
126/ 1 Hored =

(1) 1 volt
15¢
(3) 1 watt

"85. Pick the false statement from the following :

2od T3S’ 8y g0 ¢

(1) Resistivity is also called specific resistance.
26553 DY DE6'G0 woertd

parallel to Y-axis

Y-egsd S5rcdto

intercepting both X-axis and Y-axis
X 5oBci0 Y ugrosis podoinid

1 ohm
1%

1 ampere
1 esobaifsd

(2) Reciprocal of resistivity is called conductivity.

DEF 5 G205, DOSNN TSN

(3) Units of both resistivity and resistance are the same.

aﬁwmn&mdwmm

(4) Low resistivity metals are good conductors.
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86, resis
86. A current of 1-5 A passes through a conductor of

ACToss it is P A
200 96'50 KBNS . o Koo (Sitrod DS 1; "::f :
(
1 1333 V
/J;;-/*S'V 4) 20V
1 'd iﬂtﬂ tﬂd 1ir -EI“ -'I
[}7"""‘ e materials which are useful in making of diodes, transistors &5 = chipm
etc. are g
Garte W.Wﬁﬁﬂ%mwﬂ'ﬂﬁquw y I8
(1) conductors (2) insulators .

ToTe BOGSE : -
Mﬁim::ducmrs (4) alloys -l
ST s 1

88. The defect of vision in which the people cannot see the abjects beyond far point is called
Soed Sood 103 Dot ese fo Siyposs Srads Hcoss woRols GRESe

(1)  presbyopia hypermetropia
BT Bge
(3) myopia (4) the angle of vision

yor a healthy eye, the accommodation of eye lens will be in the range of

(1) 2t25cm
(2) 25t025cm e
(3) 1to2cm

(4)~" 2:5 to 2:27 ecm
1 JHE

' A person cannot see the objects placed between near point and th point of least dist:
_ distinct vision. His defect of vision can be corrected {:y s © t of lea 3

85 Sogrsy
@ concavo-convex lens.




SECTION—III : CHEMISTRY

91. The impurities
such as soj
as soil and sand associated with ore are called

o DS
D0t 504 5901 358 o) Shesss DED woerts?

(1) slag )
o (2) flux
|E5s0
(3) mineral
(4} gangue
e ./"
3 poesrDdo
92. The s ¢ -
pot at which corrosion occurs on the surface of an iron material, behaves as
AR
R0 BPo ESBBooD t8 APRE0s0S” Kuo BONS, © Srotso g (398001
(1) cathode (2) anode
sEET 598700 S Er ©5G3e0
(3) either cathode or anode {3]/‘(1' has no relation with electrode
!'.f‘
oHE o eSEr B9850 do§EL wowoko &otds
manganese?

@ Which of the following minerals contains
208 TR’ D Pl Syorih ¥Oh &otol?

(1) Galena ):H’/ Cinnabar

A nerd
(3) pPyrolusite (4) Hom silver
e 36, bosB
94. Which of the following methods are used to prevent corrosion?
BB TS D SEBOR K0 N BoHts aS@TARE?
(1) Painting (2) Electroplating
Baoed Sae0 Erahred Dy &oD0
(3) gacrificial electrode of another metal (4 All of these
o siryho SO €708 S 80550 B
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. What h '
100 appens when litmus paper test is performed with an acid?

25 0N Bend SASeE 363005 Bod 306" 98 ety
(1) Red litmus turns to blue (2) Red litmus turns to yellow

MD&}‘-‘EWM mgqgmn'wm
_ (3)-" Blue litmus turns to red (4) Blue litmus turns to yellow
29 Beyh B S 50 Dex’ ST ST

101. Which of the following properties is used in the olfactory indicator?
GoB TN D ofery 15 FEb st es@raor

(1) Colour change (2}~ Odour

(3) Taste (4) None of these
10 i i d?
{10% When Na,CO, reacts with an acid, which of the following gases 18 evolve
0y Na,CO, un,g:mﬁ‘ “.')dsuﬁb:&éad:, @oa:-né‘bmaaﬁ&mom

(). Hy (r N, @ O, (4) €O,
103. An antacid is

Jotrnb BsoNd

(1) asalt (2) an acid

(31~ “abase (4) an acid or base

e st eszion B0 O

AN

&104/ The nature of non-metal oxide is
7 wsf ey D o $Acotod?

(1) acidic (2) basic
e )
e:ltral (4) acidic or basic
105. Principal quantum number (n) is represented with
n) B8 KO
fﬁ ?‘f: "5:”5 { K,LiM, ... 3 XY.Z... 4 ABC, ...

<SACE FOR ROUGH WORK /D8y 85552



10 ; ic model?
4 16": Which of the following properties was explained by Bohr's atomic mo
T B35 Doymo B %08 elE’ A 23000087

(1) Line spectra of H atom (2) Fine spectra of H atom

o Eleed eSOar SgRe0

B E-:’f:i::_m fine spectra of Hatom  (4) None of the above
E'eS Sgr S0ty asdyr SEsesn 2808 5
107. Maximum number of electrons held by p-orbital is
P-e0ynd6' Rogerr ) dogisi doissiy?
(1 2 2) 3 (3) -6 (Y

@' The electronic configuration of an clemen;is based on
SEErTD Ay, Jogs Jgo SR Wl LgrESER?

(1) Aufbau principle (2) Hund’s rule
esBe> Do " 500E Dathiisino

(3) Pauli’s exclusion principle (4) All of the above
b 355 v ) LR

g@-’ Which of the following quantum numbers can't have zero value?
808 06" D sy5000 Sopy 3oy Dewss EDAOELSS?

(1) Principal quantum number (2) Azimuthal quantum number B
B spoels Sopy Selah (55 I Sl Sowy

(3) - Magnetic quantum number (4) Both (1) and (2)
SIS Sy0es Mo (1) 00k (2)

which of the following, elements are arranged in ascending order of their atomic numberg?
Mzmmmwmwmwm? i

(1) Dobereiners law of triads (2} Newland’s law of octave
oS8 B booto Sryorol e Dot

(3) Meodern periodic table (4) Mendeleev’s periodic table
S0 IS Sl _ 0oebS e sy

ffi'. ::li:g of the following quantum numbers increases down the group in the modern

€08 706" 3 S0t iSopy, o8 LGS S8 Gy pre’ 8003 254w, T8 Deoroiod?

(1)  Principal quantum number (2)  Azimutha] quantum nu:ﬁher
B S50t S S'ehats (5 sreotsts Sows

§ quantum number (4)  Spin quantum numbor
_SAbN08 SigotaSs Sop RS Sy0ta Som
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L e n

(1)  s-block elements

s (2) p-block elements
S-S aTresen

3 ) p-ers Sarese

5 ek aantin (4) f-block elements

d-er§ Sores
o i ferSsorese

113. How many elements are present in 3rd period of the modern periodic table?
GIGORE LIS DS 31 HBOHE B0ty Iy Sreses 50H?
1 32 PLa (3 18 @ 2
(1147 The valency of an element belonging to VA group of the modern periodic table is
€D easS5R S8 VA (058D Sorottin dast 380 Jod?
() 3 2) 3 3 7 (4)
11& lonic bond is formed due to which of the following?
Dl woso B Disor Dot ?
(1) Transfer of electrons from one atom to another atom
L SESTE 00D 0BG SEXTTRHE JOFS SIS extiores Sov
(2) Electrostatic attraction between two oppositely charged ions
Bot IR0 SeTo $og RO BCTETE Do
(3) Sharing of electrons between two atoms

(4)~ Both (1) and (2)
/ (1) SoBas» (2)
1me of the following is a noble gas?
Eod TRE" BETadD 087

1) F, (2) Cl, 3) 1, /m/ Ar
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s atom will
@. When a metal atom forms ionic bond with a non-metal atom, the metal a | 1

65570 8653708 eairdE pogos” G, 1En

(1) pgain electrons . (2)lose electrons
Jogikn otodod JogB &'y tood

(3) share electrons (4) neither lose nor gain electrons
Dogi Souionosd ggﬁgmg'é‘jda B oty -

y‘thc valency of sodium is 1 and oxygen is 2, then the formula of compound formed be
sodium and oxygen is?

dobo Sug, Jedy 1 $o0cKn esdyes oy, Jedy 2 sowd o S0 edyed

g Dxede
(1) NaO @) Na,0, /J;pzﬂa_zo (4) NaO,
llgﬂtiple bond between nitrogen atoms in N, molecule contains _—
7 26556 Brocsin® &3, sockies a
/Bj,f--- 1 sigma bond and 2 x bonds (2) 2sigmabondsandl m bond
10m o, 2 ® wogres 2 hivy eogSnoe, 1 1 e
(3) 3 sigma bonds } (4) 3 = bonds
3 iy wolisoes ' 3 ® ol

120,In nature, gold metal is available in free state(native], because

(2) it is more reactive

08 Sogher
(4) None of these

0 \
| 2 Fag 22
Ea l& 2 5 9 . !



